
SAP ABAP table /ECRS/T006_BUFF_S {Structure for Buffering T006 Data}

_ECRS_T006_BUFF_S

MANDT [CLNT (3)]

DIMID [CHAR (6)]

ISOCODE [CHAR (3)]

TEMP_UNIT [UNIT (3)]

T000

MANDT [CLNT (3)] /ECRS/T006_BUFF_S-MANDT = T000-MANDT 
0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 /ECRS/T006_BUFF_S-TEMP_UNIT = T006-MSEHI 
0..N

{0,1}

T006D

MANDT [CLNT (3)]

DIMID [CHAR (6)]

 /ECRS/T006_BUFF_S-DIMID = T006D-DIMID 

0..N

1

T006I

CLIENT [CLNT (3)]

ISOCODE [CHAR (3)]

 /ECRS/T006_BUFF_S-ISOCODE = T006I-ISOCODE 

0..N

{0,1}


